(38) Quelles sont les deux polygones qui sont semblables ?
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(39) Lans Ia figure ci-contre :
m(= DFC) - m(< A) =

Polygones

) (1)9)

)
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(a) m(DC) (b) 2m (DC) g B¢ (d) 2m (EB)
h
Si Py (A)=7, alors le point A se trolye

(a) enteriéure xteriéure (c) sur (d) Au centre du

. A Y
L
‘v
‘\> :
L Y




(37)

Dans la ligure ci-contre :

(a) vaz (b) 8

Dans la figure ci-contre :
DF

E — ssamEmEnd

4 8
@ 3 (b) =

Dans la ligure ci-contre :
BLZ =...con LY

(a) 5 (d) 2

Si M esl un cercle de 3 cm, A est ulypoint au plan du cercle ol
MA = 4cm ,alors P,

(a) 7 (b) (c) 25 (d) -25

Dans la figure ci*dcontrég

X = rrreernn B : e Q
. E
(2x + 10) h___ A
W
C

(b) 150 (c) (d) 100

Dans la ligure ci-contre :
Toutes les relations suivantes sont Just sauf ...




Dans la figure ci-contre :

(a) (11,16.5) (o) (11,15:5) {c) (12,16.5)

Dans la figure ci-contre :
BlL =

(a) 15
Dans la figure ci-c

AX//AC ,EY//AB , BC

EC 4
et — ==, alors XY = ...
AE 5




Dans la ligure ci-contre :
AABC~A ADE ,alorsx = .........

(x+4)cm
A (2x + 3) cm

(a) 11 (b) 1 (c) 12 (d) 10

Dans la figure ci-contre :
ABC est un triangle rectangle en A,AD | BC ,alors

A =...Ch

(a) 18 (b) 25

Dans la ligure ci-contre :
AD est une tangante au cercleen A, L 1
p Y

Alors la longueurde BD = ....cm Wy
)

(a) 25

_Elnﬁl_uﬁére
BnNnCD ={E

(b) 1080

(26) Dans la figure ci-contre :

AR est une tangante au cercleen B,
FL = 10cm ,LE = 3,2cm ,
CL =8cmetAB = xcm ,




Si la fonction [: f(x) = ax®*+ bx +c¢ , a <0 et les racines de I'équation
f(x) = 0 sont 2et-5,alors [ est positive dans

(a) {-5; 2} (b) R—]-5;2[ (o) ]-5;2 (d) [-5;2]
L'ensemble solution de I'inéquation : (x — 3)(x —4) < 0 dans R est ...... .
(a) {3; 4] (b) ]3;4] (c) [3;4] (d) R-[3;4]
L'angle de mesure 2019" se trouve dans le quadrant

(a) Premiere (b) deuxieme (c) troisieme _W‘_ o

Si la longueur d’'un arc d’un cercle est égale a %de son perimetre, algs &
I'angle au centre en degrés qui est opposé a cetle arc est €pa

(a) 30° (b) 67°30\ (c) 135° (d) 240°

L 1
. i T m T T T
Si xsin = t:us;- f:ﬂtE = tan® i Eﬂ&ﬁ‘ln

-1

@) 2 (b) 22 () =

SifE E,ﬂ'[ S = - ¥cosec BsinB — tg B cotg O + cos*0 = ...

25 25 169
@) & 144 b %=

-
b) 180 (c) 210 (d) 330
= sin (ﬂﬂu) ol 0°< B <90 ,alors: O =
B
% b so0 (c) 45
Si f(x) = cos 60 , alors 'ensemble image de [ est
(a) [-6;6] (b) [-1;1] (c) [1;6] by Fi:il
Si cos?0 = % oll 90" <0 < 180" ,alors la valeur de :25sin @ — 4cot 0 = .......

(a) 23 (b) 17 (c) -17
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Si x = 5 est une racine de l'équation : x* + mx =2m+4,alorsm =........

(a) -7 (b) 7 € = () =

Si 2 et 7 sont les racines de I'équation : x* + ax + b = 0 ,alors :

(a) 5 (¢) 23

(L+8)*—(

(a) O -8

SizZx—y+ (x—=2y)i=5+1i,alors (x; y) =

(a) (1;3) (b) (3;1) g (31 (d) (3;-1)

Si les racines de I'éguation : kx* — 8x ¥¢= plexes non réelles,
alors k € -

(a) ]1; oo (b) ]—oo; 1] ; (d) ]-1; o9f

Si les racines de 'equali

Reelles et Complexes et
égales Non réelles

(a) (d) Conjugues

Si les racines de : 8x%% bx + 3 = 0 sont positives et leur rapport est
2:3,alors ) =

() =

u-lz‘=‘u (b) x¥*+14x+12=0 (c) x*-14x-12=0 (d) X +14x-12=0

Si la différence entre les racines de I'équation: 6x°* —=7x+1—a = 0 est 1?1 :

(b) 2 (c) -4 (d) -2

Si:[=3,2] = R, f(x) = 3x + 6 , alors le signe de la fonction [ est négative dans
I'intervalle

(a) 1-2;00] (b) [-3;-2] () ]-oo;-2] (d [-2; 2]
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If x = 5 is a root of the equation: x* + mx = 2m + 4, then m

(a) -7 (b) 7 € =

If 2, 7 are the roots of the equation : x* + ax + b = 0 ,then the
a+b =....

(a) 5 (¢) 23
(L+8)*—(

(a) O (c) -8
IM2x—y+(x—2y)i=5+1i, then(x,¥) =....
(a) (1,3) (b) (3,1) g (3.1)

If the two roots of the equation: kx? —‘% 1

(a) ]1,00] (b) ]—oo,1]
The two roots of the e

complex and
not real

conjugate to
each other

(d)

(a) real and equal

If the two rools
between them is

equat
} 2 u-lz!‘u (b) *+14x+12=0 (c) x*-14x-12=0 (d) X +14x-12=0

If the difference between the two roots of the equation: 6x°* = 7x+1—a = 0is
% ,then the value of a =

(a) 4 (b) 2 (c) -4 (d) -2

If:[=3,2] = R,f(x) = 3x + 6 , then the sign of the function [ is negative in the
interval ............. :

I:EI:I ]—E,Eﬂ[ l:h] [_34'_2[ {E’] ]_WJ_EI {d] [_2:2]




(17)

If the function [: f(x) =ax*+bx+c , a <0 and the two roots of f(x) = 0
are 2, -5 ,then the function f is positive in ..........

(a) {-5,2} (b) R—]-52[ (c) ]-52] (d) [-5,2]
The solution set of the inequality: (x = 3)(x —4) < 0inRis.......
(a) {3.4} (b) |3,4( (c) [3.4] (d) R-[3,4]

The angle of measure 2019’ lies in the ........... quadrant

(a) first (b) second (c) third _W_ J

If the length of an arc in a circle equals % of its circumference, ther
of the central angle subtending to this arc in degrees equals

(a) 30° (b) 67°30 {(c) 135°

L Y
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If x sin— cos— cot— = tan®—— caszi‘me
4 4 6 4 Sy

(@) = (b) 22

12

If8 € E,ﬁ[ ,8in @ = —ythen the va ¥esc Osinf — tan @ cot 8 + cos®o =...

25 25 169
(a) = 7 (d) -

If cos (270" — 60 is the measure of the smallest positive angle,

u
(b) 150 (c) 210

#+40"

: ) where 0" < # <90 ,then: 0 =

(b) 60 {c) 45
If f(x) = cos 68 , then the range of the function is

(a) [-6,6] (b) [-1,1] (c) [1.8]

If cos?8 = E—Z- where 90" < @ < 180" , then the value of :
25sin @ - 4cotf =........

(a) 23 (b) 17 () -17




In the opposite figure:
AABC~A ADE |, then thevalueof x = .........

(x+4)cm
A (2x + 3) cm

(a) 11 (b) 1 (c) 12 (d) 10

In the opposite figure:
ABC is a right —angled triangle at A, AD | BC ,then

(a) 18 (b) 25

In the opposite figure:
AD is atangent to the circle at A,
then the length of BD =

1
{a} ﬁ:

If the ratio between the s of the diagonals of two squaresis 2 : 5 and the
area of the smaller one is 4 then rea of the greater one s ......... cm*

(a) 25 {c) 20 (d) 50

In the oppdSite

(b) 1080

In the opposite figure:

AR is a tangent to the circleat B,
FL = 10cm ,LE = 32cm ,
CL =8cmandAB = xcm ,
thenx =....cm

(a) 8




In the opposite figure:

(a) Va2 (b)

In the opposite figure:
D

FC

(b)

In the opposite fipure:
3§ D R by

(a) 5 ) 13 (d) 2
point lies in its plane where

(a) 7 (c) 25

D

(2x 4 10)

C

(b) 150 (¢) 135

7) In the opposite figure:
All of the following geometrical relations are correct except:

(b) ==




In the opposite figure:

(a) (11,16.5) (o) (11,15.5) {c) (12,165

In the opposite figure:

(a) 15
In the opposite figur

AX//AC ,EY//AB, BC

EC +
and E—;,lhenk’}’-.

(a) 21 w




(38)  Which of the following polygons are similar?

D Qo

Polygons
a b
@ ) (b]
In the opposite ligure:

m(z" DFC)-m(2 A) =

Polygons
(1).(3)

Polygons . Polygons

€ 1) (3), 64

(a) m(DC) (b) 2m (DC)

- C
If Py (A)=7, then the point A lies

(a) inside utside (d) onthe center of
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h
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